Unit 3: Inverses and Graphing Polynomials
Guided Notes
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Concept 1: Inverse Functions
_\l‘meme Function: An inverse functions has all the same point values as the original function, except the x-
v values and y-values of each point have been switched.
Find the inverse of the following functions:

1-1x={(0,3),(5,4),(8,9)) 2. f(x)={(0,5).(5,7),(8,3)} 3. f(x)= {(1,6).(7.4).(2.3)}

f A f— B z = : z Z
FEG0), (4,9 (4,91 £(5,0),(1,5), (3,0)% f¥=5(0,), (4,1, (3,105

Graph the inverse of the following functions:

(Either by switching the x and y values of each point, or reflecting the graph over the line y=x)

S y=Ac
¥ S

Find the inverse of the following functions:

(Switch x and y then solve for y)
peces gy IR SRR
T S | 2
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Concept 2: Graphing

Graph the following functions usin

8 g the t-tables provided.
1. Y=x Linear 2y = x2 Cubic 3. y=|4 AbsoluteV alue
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These are the basic types of functions we will be discussing in this class. Every other function we lock it will have one of
these functions as their “base” function or “parent” function.

For the equations given below state what the parent function is from the & zoove:

Ly =3x2—§ 2y=Vx—-6 3.y=3x-4

i) . D
(Ve Voot _ngar

5.y=13+2 6y=2'x—5!+4

cVnie Opsoiute. Value

-
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Concept 3: Transformations of Graphs

As discussed yesterday, every graph we look at it in this class will be a transformation of one of the parent functions we
'ooked at yesterday. Today we want to discover how those parent functions are transformed,

1. First: Graph parent function y = x? Third: Graph parent function y = x
Second: Graphy = x? + 3 Fourth: Graph y = x + 4

How did the graphs change from their parent graph?

[
, 9 ) i
. p H

‘) v’ >
|
2. First: Graph parent function y = x? Third: Graph parent function y = |x|
Second: Graphy = x? — 3 Fourth: Graphy = |x| = 5

How did the graphs change from their parent graph?

, down

| —

\ N .
3, First: Graph parent function y = x? Third: Graph parent function y = 3/x
Second: Graph y = (x + 2)? Fourth Graphy = Vx + 4

How did the graphs change from their parent graph?

Lf_, _1’."
“ . 3 | ﬁ)
\I .\ g_—‘ [
4. First: Graph parent function y = x? Third: Graph parent graph y = Vx
Second: Graphy = (x — 2)? Fourth: Graphy = Vx — 1
How did the graphs change from their parent graph?
(rant
ARE 7. AR
= , |
( \ ' FTT Lor? v
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5. First: Graph parent function y = x2 Third: Graph parent graph y = x°
Second: Graph y = —x?2 Fourth: Graph y = —x?
@!nw did the graphs change from their parent graph?

Fle oy Y-axs

6. First: Graph parent function y = x? Third: Graph parent graph y = x*
Second: Graph y = (—x)2 Fourth: Graph y = (-x)?

How did the graphs change from their parent graph?

F\\\? O\RY uy AY\ G

7. First: Graph parent function y = x? Third: Graph parent function y = x
@Second: Graphy = 2x? Fourth: Graphy = 4x

How did the graphs change from their parent graph?

Steeper, vertital STETln

8. First: Graph parent function y = x? Third: Graph parent functiony = x

Second: Graphy = %xz Fourth: Graph y = gx

How did the graphs change from their parent graph?

Scanned by CamScanner



Based on what you discovered through the previous activity, fill out the table below:

—

Function Notation

P

Description of Transformation

f()=fx)+c

ve C

R down

f(x) = f(x+c) leer 3

fG)=fGx=0) (ight C

fO) =—f(x) \f\ W2 G

) = f(=0) Ci Y
fQ)=cxfx)orf(x) =cx*f(x) . o
FO) = 2% f(x)or FG) = £ (3x) [yermea) OUMOeSen o

r

Identify the transformations in the graph and equations below:

l
- —ir 41
2 i .|_ -
& |
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y=2(x—-1)*+5

) S | ,:,.
¥ 30, g SO S0
rx_,'\.“\ :&.Jl J 1I'h“ L"k

y=—§ (x+1)3+7
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|
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Concept 4: Key Features of Graphs

Define the following:

’l—!ntercepts: \?C AS  (wuN\efe Al W‘l‘ ( {1 g /o it
Y-Intercepts: [{‘Q“"‘;TJ whexqre  ( ‘1 Ll\.\\ v (4 ( X l / [ & _I_.—-—
Maximum (relative): ?L S anede l_\“'t\__.'\‘ (% e TaE AT (L __I,JL..H.’.'«-‘:‘A
Minimum (relative): L0 T (O L —Quagn 18 AL "l AL l (. Jodil L=
even__ SUTAMETNC  Qoout the - L —
0dd; "-}\./{]t‘fﬁf\{ﬂ'm Aoyt e O (K118 A
Increasing Intervals: |[\ T \.‘L\\ WNEe ¢ "!\1 \__k\}\, \ f‘\ (A LA WAL {._—»——A—-—"" :
Decreasing Intervals: |(c2.0/1) (LUN2AC Qe Vo Doy ok AL 1T (AL
positive Intervals: \(\TEAYQL o et * \1- “'\ \ LY (N Bh 1 I S
Negative Intervals: |\ [\ TCA N AL (0 DOy L \{ I( i ()t / (AL —
End Behavior: { Jo (" (1T L»’\\ ¢ u\‘\"\& UL ‘\_‘;_!1‘11 LA 1 ”_‘ 5L e W L SR
Identify each of the above in the graphs given below:
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X-Ints: (0,0) Inc: (). 0) X-Ints: (- & 0) '!I.n.‘c:) (-
Y-Ints: ( () ‘(, ", Dec: [ ) ) Y-Ints: (3 () Dec”ff‘-‘- .{
Max: MIFT Pos: (-06 0N Max: | . 1) Pos:
Min: k(),(? \ Neg: nJ N Min: (-} ) Neg: ||
‘@@Oddmeither EB: v 500 4760 Even,(‘OcrlfiﬂNeither EB: y Y-
K- 00 \1 -7 =00 =7 -0C "1. B
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